R RS

J2 Series

BEAME FIMNE 8 H $ B 4
= UL A 1 R B A R A R SIRR ) ABGR, e
8415 J2 %1 PLC H[F.
BELRFIIAME] 5w Hi41% 100KHz LA DPLSR 545281
[SL] [S2] [S3] [D]
‘—H—[DPLSR D100 D102 D1000 YOO

BHEAMA(GO1) : R M e 4 A bR S s
[S1] s
[S2.]: x 4% S AR D102,
[S3.] M E D LEfresiia i E, A3 E D1000 — D1099
FE [D1064] :Fixth, [D1065] :fixi kil D SAF syt fr &

[S2.]+2 : y fh#& i Aebyr D104

# D1065=1100 1t D1100 — D1199 JyFex i py 7 il
[D.]: YO BE Y1 37T
[ FRAME] (GO2,G03): A7 P A AR 2K (i) [l Lo 3 i) - A A 5
GO2 :JIiif 4l CW &% )71, GO3 ikt CCW iz%% 7T
(RO e & LN AR B O 2T AR AR
[S1.] R
[S2.]+0 : x HhZ& fiAk#F D102, [S2.]+2 :y MhZ ik HE D104
[S2.]+4 : x FhE 044 4R D106,
[S3.] L HE D A7 aAtin i E,

2% Bit6,D1002=0 & L2} =,

[S2.]+8 : y fF L4 4% D108

B3 4% D1000 — D1099

FE [D1064] :Fixti, [D1065] :fiixi kil D SAFask s fr &
# D1065=1100 ft#% D1100 — D1199 JyFex i py 7 il
[D.]: YO B Y1 ¥y7]
(i) PR W & AR AR AR () KB
[S1.] :lH) s
[S2.]+0 : x HhZ& Ak AT D102, [S2.]+2 :y MhZ fiAk¥E D104
[S2.]+4 : 42K D106,
[S3] ML HE D ZAEA AL E, H3IRE D1000 — D1099

4 Bit6,D1002=1 /21 =

[S2.]+8 : Don't Care D108

FE [D1064] :Fixti, [D1065] :fixi kil D SAFask i fr &
# D1065=1100 ft#% D1100 — D1199 JyFex i py 77 il
[D.]: YO B Y1 ¥y7]
*VE A RE AT, WG AR 5 2 ST ARRRAS AT LLAE ]
A w R B AL SE LA AN A 2 AR

J1HENL T ERAF
Hi1fi: 886-4-25613700 1% Fi: 886-4-25613408
M k: http://iwww.liyanplc.com

LT HEAHA5 46 twliyan@ms16.hinet.net

P10

P11

* ok ok ok ok ok kK E%%Hﬁ‘l (GOl)********

Y axis Target Vector speed
Position
([S2.], [S2.]+2)
X axis

Start position (D1006,D2006)

M8002

— ———[DMOV K5000 D100] fi&iH
L [DMOV  K2000 D102 ] x % s Ak &
| [DMOV K400

D104 ]y & siAsbrfr &

- {CALL  P10]
L {CALL P11]
M500
| ———[MOV K1  D1000] #r4f% Go1
M500 [S1] [S2] [S3] [D]
— DPLSR D100 D102 D1000 YO0O]
M8029
| [RST M8029]
[RST M500]
[ FEND ]
M8000
— F—[MOV K2 D1001] iz%J7 [
— [DMOV H1000 D1002] 33
— [DMOV K50000 D1016] #x/&ik &
— [MOV K100  D1020] #2#hkfF
— [MOV K1000 D1022 ] Js i [a]
— [MOV K500  D1023] J&ikfa]
— [MOV K1 D1064 ] mxhi #4F Y1
— [MOV K1100 D1065] Hexihh D1100 175
[ SRET]
M8000
— ——[MOV K3 D1101] &% 771
L [DMOV H1000 D1102] 3%
— [DMOV K100000 D1116] ik /E
— [MOV K100  D1120] ja#hisE s
— [MOV K1000 D11221] JidkH &
— [MOV K500  D1123] Jis i [A]
— [MOV KO D1164 ] mxtf #124F YO
L [MOV K1000 D1165] fixiHh D1000 2174
[ SRET]
[END]




* Kk Kk Kk k% 9}&%”@(602, GO3) * k k Kk k%
(1) FANZ LR, [RCAR, CW IR (G02)

Target (X, Y) Vector speed

Ccw

Start
point

CCwW

M8002 Time

—| ———[DMOV K5000 D100] fi&isE
L [DMOV  K2000 D102 ] x % i Azt &
L [DMOV K400 D104 ]y i A bif &
L [DMOV K500  D106] x il £r4t bfr &
—— [DMOV K500  D108] y il trAk bfir &
L [CALL  P10]
L [CALL  P11]
M500
— ——[MOV K2 D1000] #r4 i GO2
M500 [S1] [S2] [S3] [D]
— DPLSR D100 D102 D1000 Y0O]
| M8029 [RST M8029]
[RST  M500]
[ FEND ]
P10, P11 A E, {A Bit6,D1002=0
----[DMOV H0040  D1102] Z¥
[END]
(1) SN SR, 08T, COW 47T (GO3)
M8002
—| ———[DMOV K5000 D100 ] &%
L [DMOV  K2000 D102 ] x % i Abzfir &
L [DMOV K400 D104 ]y % A bif &

L [DMOV K500  D106] x %l [f-0A b fir B
—— [DMOV K500  D108] y il [f-0oA bifir B
—[CALL  P10]
L [CALL  P11]
M500
— ———[MOV K3 D1000] #r4f% GO3
M500 [S1] [S2] [S3] [D]

—H—L—{{DPLSR D100 D102 D1000 YOO ]
| [RST M8029]

[RST M500]
[FEND ]
P10, P11 [ I, {H Bit6,D1002=0

----[DMOV HO0000  D1102] Z¥
[END ]

(H1) N ST bR. R0 KE, CW BT GO2
ORI, AN, & r R, KRR

— ———[DMOV K5000 D100] [ &

D102]  x e s A b B
D104] y % s A bR B
D106] f&& KR
——{DMOV KO D108] Don't Care

— —[MOV K2 D1000] 4 GO2

—|'vI500 DPLSR D100 D102 D1000 Y0O]
|M8029 [RST MS500 ]
[RST M8029 ]

[FEND ]

P10, P11 [A L, {H Bit6,D1002=1
----[DMOV H0040  D1102] &%

[ END ]
(IV) BN S LA A2 () KB, COW I 577 1) GO3
I roNIEE, WA/NERR. & r Nl WA KEERAE

i Target (X, y)

— F———[DMOV K5000 D100]: [f] &% &
——DMOV K300 D102] : X filiZ s A b &
——DMOV K400 D104] : Y filiZe s A b &
—DMOV K-500 D106]: f&5EFEKE
—[CALL  P10]

——CALL  P11]

—:|::|§27[MOV K3  D1000] 4% GO2
- DPLSR D100 D102 D1000 Y0O0]
| M8029 [RST  M500 ]
[RST M8029]

[FEND ]

P10, P11 [# L, {H Bit6,01002=1
----[DMOV H0040 D1102] ¥
[END ]




